No.1
cSwvo - 24—)LFFEH - itfxEk B FET)

bt B a—F [2] gitiey  FHRSEE FIRRERRESR o 16220521 s/ BHO —W@ AE Y L B
A A BiRkE L BREBE B4 BME—EREESGELHEES a— R 223040 FldR AT P ARE
arr| ome |t S m| s i, wa | M wmoens i, wa | wmoens i, e | ) s i e
04/02|— & - BRET TEF % BHER 0082 || 2[F% e 4| =2FEA 0706 | 3|2A& K& 2|=i= TIF004 |4 [BH He 4|BEHBAA T 11
100m +1.2m +1.2m +1. 4m +1.2m
S(IUE %&® 3| Z2Bis w12 (6| FF Bt 3|ims w21 | 7&% Be 2|els 24 |[8[1XA 8 3 |aims 17030
_ _ _ +1.2m e +1.4m +1.2m — +1.4m__|
04/03|— 1 - BRBET NEEE T EEIES 22064 |[2|EA B S| mAEe 23703 | 3|IUE faE 3| ZBite 23712 || 4|7 BE S| LlEE 235534
200m +2. 1m +2. 1m +2. 1m +1.2m
5FE 28 3| Al= 23%37 |6|FE BxE 2|Bm W45 || 1|RA KB 2|=is 23748 |8 [[NERIER 3| REs 237048
+2. 1m +2. 1m —-1.4m —-1.4m
04/02|— & - BRBEF TIE2® i 3| —BEEsS | o032 || 2|LE #E 3|—-=2= 50875 |3 Mg =iE 2 |BAEK 51524 |4|%  RIE S |HE 517061 |
400m
5[/ME BIA 3| 2Bitm 51997 |[6|BH AZ 3 |n&Ek= 5219 || T AR 2|BEK 52723 |8|EE BE 3 |a e 527538
04/03|— & - BRET TR W 3| =HaEs | 1568022, Bk 2|—=5 EXEE HEEE N GEE 2700807 |4 |BL WM 3| =ms 25007563
800m
@A % 3|z2Bm 25702736 |FiR 1B 3 |mES 250382 | T| K% &3 3|—=im 270450388 [E R AKE S|BRRRES | 2505057
04/02|— & - BRET TIAEH HBA I BE=S 45068013 2118 WA 3|—=dtm 475087064 || 3 [{BH S5k AC—= IS8 |ES == 3 |hes EANNEINE)
1500m
G|RE KB 3| ZBEa 5120916 | mce 3| =BEs NS M S I I1THT5 | 8 [ %= BEE AT | 4518501
04/03|— & - BRETF TER 2% J|hEs 15520143 2 | AE BA 3 |HEEm 553017 3 |1E BA 3 |—=itm 55013 4| B8 =28 BEL CAT | 157345024
5000m
S[em =i AC—= 155,38%20] 6 |Z1H & BEDLvAT | 155300006 7 |IREd KB 3| Z2ERS T553401528) 8 | B e 52 BAEL AT | 155487540
04/02|— & - BRETF T|aA Bl 2| Z25is o041 |2 e BE 3 mEs 554 | 3|50 EE 1)2m 5865 |4 |% 28 2|—=m; 57582
110mH[1. 067m/9. 14m] || +3. 4m +3. 4m +3. 4m +3. 4m
SEF BE 3|—2& 593 (6|FE HWE 3|—=@s 6823 |[1[BT BT 2|—-=@= 1904 | 8| BE 3|—=im 177539
+3. 4m +3. 4m +3. 4m +0. 7m
04/03|— B - BRET TEE BR 3 |WEs 5708 |2 |aA FE 2| Z2Bim 5768 || 3|53 BA 3| =EEm | /B9 |4|FH B 3|zelts 587508
400mH[0. 914m
SEF BE 3|—2& 58740 |[6|kE BM 2|—2& S M AR TS 15300857 7| ZIE 3 |—=@EEs | 1500857
04/00|— B - BREBET & &BA 2|—-=2& 0546 2| 5E BA 2| Z2Bm OR AT 1| 3 | ILE T8k BEL AT | 10512008 4|1 EH ME 2| ZBls 05187598
3000mSC
HE R R 105207042|( 6 |/Mek &R 3|—E& 1053208081 7 |/NERKE  3|HiES 105237 79( 8 [ILA& EA B 105247035
04/03|— B - BRET TNk &3 3 |—=& 227351850 2[Rl Bk 3 |HEm 23500800 3| B RE 2 |BES R HEEEE N ] 2353595519
5000mW
55%F BB ?2|—-=is 555463 6| BEH —1F 2|—=8s BH5EWe|T|HE B 3 |—=im 265327565 8 |1l TR 2 |—=@m 215349573
04/02|— & - BRBETF Rt &3 2 BH &M 3 BA BE 2 EH A= 3
4% 100mR 1|8 BE  3|HISA 43851 || 2|FH =h  3[IES 437083 (3| dRE2 3 |2BdtE 43790 [|4|XB Xkt 3|EEHA 437095
2 ml 2 K% BE 3 MR OEA 3 2% = 3
| |mm =% 2 HETHEIEE 3 LA E8 3 INEEIES 3
2L EA 3 FEHERE 3 N2 ENE LA E=# 3
5(mEE K# 3 |2BRES 44m24 |6lER Fa  3|—=mEEES | #4B4 [708 BE 3|ELSA 447048 (8lEBMIEABR 3|—=BA 447051
KFE BEE 2 2R BEK 3 A Eth 2 WA #hE 3
WE BE 3 EH EEE 3 BEA_ KB 2 BR KB 2




No.2

FSwH - J4—)L KRB - iLigkE BHLET)
el B0 a— 1k [29] B4 FRR28EE FIEEIRLES a— R 16220521 4R HO W KE BY #l #=
A A BiRkE L BREBE B4 BME—EREESGELHEES a— R 223040 FldR AT P ARE
aer| e [ ma | W s i, wa | M s i, wa | M wwens i, e | ) wmwews i e
04/03|— & - BRBT| RiE EF BB 3 SF &L 3 NERER 3 BA e 2
4 x 400mR 1 luE #iE 3|—=SA 3526870( 2 [mEE B 3|—=EEE 35268893 [m  EAR 3|EELSA 35287063 ( 4 |ch B B 3|zEiE 343307033
NME B3 TH EEE 3 2% 2=F 3 LE a8 3
B mA 2 BA w3 BH K2 3 IMNE K3
TH EE 2 RE BT 2 ETEH 3 3 ‘L #BA 3
5I0 28 3|zeEB 35317068( 6 (=R #HA 2[zBES 332MI5|7|2E i 3 |EESA K%yl KA VT A -t 343327556
Wl BN 3 W\ BE 3 =4 HE 3 BE KE 2
_ T RE 3 ) ;2] ABHEX 3 _ AR = 2
04/02 i—Eﬁ%-EB‘a%?— EAGEEES J|[—Ems 1m90 2|KkE EEx IImEE 1m80 2|BF i IS 1m80 485K =t 3|/KE 1m75
=8
Ax #® 2|—=mm 75 ||6|&I1 ZE 2|MVEEm 5 | 7|FH mE 3|—=im mi0 (8| KT &% 2|RES m70
04/03 g&-%&%% T|RE &AX 3|25 M0 || 2| WE 3 |eLlm a0 || 3 | B ATIeE 2 | RlE k0 || 3| A& BF 2|ilms 340
Bk
S[iEE a2 |HEs M0 |6|EF & I|—-=mm=m me0 || 7 |[RHEmm 2 |EEe me0 | 8|EE BA 2|—-=@s 2m80
04/03|— B - BRBET IEERESS CE ) 6mI3 || 2[R R AR 2| ZBRE 6med | 3[iID =78 3| =2em om26 | 4|E BEX 3|BEs 6m21
FENE Bk 0.0m +1. 0m +2. 0m +0. 5m
S|%E e 3|—=mm 6mi8 || 6|%FF B8 3| L1mm omid | 7| oA AC—g& 6mil || 8|BVEAE 3 |—=m 6mo8
_ _ —0. 6m +0. 1m —0. 5m - —0.1m__|
04/02|— & - BRBETF T |k — B TI—D T4m08 || 2 [EER AR 2| ZBRm 1368 || 3|6k MIE  3|—=mm Tanil 2. 9m || 4 |3RfRl ek 3 |2fim 12mB6
ZERB || +1.8m 0. 0m 2312094 (+1. Tm) +1.2m
SBMEAER 3|—25 2n73 |6|%E %X 2|—-=8s 2ni0 | 7|BA B 3|1Es 2m00 |8 [FH =E 3 |aHaE= T1m84
. - +0. 9m +0. 8m +0. 4m +0.2m__|
04/03|— & & 7 T[ER ZEm 4| 2FEA TImg0
HaHu 3% [7. 260kg]
04/03 -.zi??—a ] TEE & 3|—=2i= 2m93 | 2|2@ M 3|—=im i BIEE RS 2m31 |4 |AE EB 2| =@ Tim21
fi % [6. 000kg
ST BX 3|Eds T0m36 [|6[IhT @ 3 |kmim m2d  |7T[AN ®x 3|—=ms Tm20 |8[E2 miE 3| kmis T0m03
2nd 9m91
04702 ‘.%‘gé;%[% ] TI2E e 3|—=i= B0 (|2 [ KM EE 3 |- =Em 3m60 |3 BB mE S |EELIe 32m66 || 4T BE 3 |MEe 32md5
% [1. 750kg
IR ] 3m69 |6 /MR BEA 2|—=dm 3m20 | 7|[=H B® 2|1 EE 3mi6 |7~ @BF 3|EEIs 31mi6
04/02— BB+ TIEEE B 2 |BAK 36m3Y || 2|2k =k 2 |EFEEX 35mb7
NI —$%[1. 260kg]
04702 %7&%?¥ : ]| IEER R ] 58m00 || 2 [JRE KMt 3| Z2Bm 50m20 |3~ B S |EEmLm B9 | 4]x B 2]-=21m 39m60
N2 —3%[6. 000kg
SEARER 3 |Z2Bits 33m60 (|6 |[HEA B 3|—-=2ma 0mi5 | 7|@iE &% 2|—-=dim 28m01 | 8| HA HE 2|-=ikm 2Tmo4
04/03|— 5% -* -a[ﬁ%%] T[EE = 3 |=2FEA 6om82 2|50 EhE 3 |—=dim 53m68 || 3 |BHE WL 2|-=dm Bni2 || 4|RE8 R 3 |=itm TImis
L) #[800g
S5EE HRE 2|—=1im i3] |62 &Em 3 |L&Em Im30 || 7[BK B/ 3 |ZEK em8 [8|BAk Bx 2|—-=1im 15m72




No.3

Fowo - J4—)LF1EH - 885kE BfLE T)
bt B a—F [2] TR28EE FIRREREERS 16220521 s BHO —W@ AE Y L B
A A BiRkE L BREBE B4 BME—EREESGELHEES 223040 FldR AT
Bt i V,Z“/]; il BEpE 4, bk 2'3 BibE 4, il E ﬂﬂ BibiE 4, E B4 ok
04/02|— & - BIRET G2 2778 |2 AE =R —Es 3700 |3 |8 =4 137001 Pn Ba 13%03
100m || +1. 7m +1. 7m +1. Tm +1. Tm
SEA BK 3710 || 6| FE = Eit& 3820 || 7| MEHDH B2 | 8| BRI = 13724
+3. 3m —0. 3m +1.7m +1.7m__|
B %1% 13524
_ _ +3.3m
04/03|— & - BRETF BHE BR 27745 |2 i T& I 277051 | 3 B R 278557 R = 275569
200m +0. Tm -0. 5m -0. 5m —-1.0m
FIl EF 273587 || 6| A FiE M 27590 | 7|BE® WmE 27793 |8 (%@ BB 28875
_ —0. 5m +0. 7m _ —1.0m +0. Tm__|
04/02|— & - BRETF A+ B 5OF083 |2 |WE  IR= ETIES T 00%47| 3 | =M 201104 | 410 B1% 12501763
400m
C3-F 1501646 |[liE M@k —Efm R MEEREEE 15037065 || 8 |[FEiE o 143037069
04/03|— & - BRETF TEH BT 27265087 2|t EH JE= 2528003 3 | Bl B& 2577305039 4 | 18 3k 253307551
800m
RE ¥ 25333560 6 |7 & —Efm 2535833 7[ILAx Bi% XAl BEERELS 253365540
04/02|— & - BRETF JEE BT I554%000 || 2 | £ B ZEe 153557083 || 3 | BB E B T5>565056 || 4 [ BER 153517001
1500m
FlH=0 453587567 |6 [~ B PN 5506019 7 | T =& 55 11501|[8|@mO =M 55117556
04/03|— & - BRETF &I T05728017|| 2 [AH =X T 05288 71|| 3 | EBREED 105301047 4 | L3 2R 1053357004
3000m
CIIESE30) T1505%880(| 6 | M= = A MM 506892 7 |[FmE =& 1510776 8 [~ B 153217560
04/02|— 1% - BRET HE BR 5359 || 2 [AFAD = —Ee T63560 | 3| B H & TT#07 TE 5 17725
100mH[0. 838m/8. 50m] 0. 4m -0 4m -0 4m -0.4m
A kK& T75564 || 6 [ 16 RS 7818 || 1[E2F =ER 18704 B M= 18737
-0. 3m -0. 4m —-0. 3m 0. 4m
04/03|— & - BRETF H B A AN REES EERAs | 12100023 |mm M 211098 (4|l W T2 125056
400mH [0. 762m
WE @ik 312716/ 18 BEm 1513155 7 [TEA K& 313150 | 8 [ Al 313172
04/03|— & - BRETF EEEL) 2541763 2 | 5TE  TEE e 295 128054| 3 | 257 0@ 30532003 4 [l A 1% 315227520
5000mi
FEER ZmBE 2 3IA2IEA5| 6 [FH =R 3|—=fhe JNH20W3T| 7 kR ©= 2 350158 [EE BR 355198512
04/02|— & - BRETF A Bk 3 XE &M 3 =% B 2 FH BEx 2
4% 100mR WME BmE 2 51#084 (2 |ZEMEE  3|=zBEiE 528002 |[3|@Eth ®E 2 52055 |4 |mEHDH 2 527064
E@A @3 3 mE RE 2 MR HE 2 XE &t 3
EA_ Bk 3 B B2 B &#HE 3 BE BE 2
EE ) EIIEE LA ©ZE 3 ER %E 3
BE W 3 528069 (6|ILE#M4E 2|HIEB 52087 |[7|) EF 3 537000 | 8|#F& mik 3 537018
M a2 BHOHH 3 BE E=F 2 A fE 2
5 2E 2 M= $BA PER 2 LeiE BT 3
04/03|— & - BRETF miE RE 2 TE @ 3 Wk s 3 TEEERE
4% 400mR A KT 3 45315845( 2 (O W 2|HIIBA 4315590 3 [sERE £ 2|; asm6mat | 4l nEEmBE 2 45318%503
it ZEAm 2 WE BEE 2 EfNES 2 Bl E#H 2
B B2 XB @i 3 hEBEE 3 AT BB 3
0 Uh 3 Bl B3 3 WwE mik 3 BAEARE 3
AHMDS 2 45207018 6 | FE  3|EmE 453208047\ 7 |8e5E wsiE 3 453228095 8 [m3m k& 2 443255594
Ae %3 AT 3 A fE 2 W\ EE 2
BEBEY 2 EE ¥E 2 JIER £ 3 iE #ME 3




No.4

Fowo - J4—)LF1EH - 885kE BfLE T)
Vel BH a—F [2] ks et FRi28FEE FIRERLHES a—F 16220521 |  sHHIE HO —B AE BY Bl B
ARl BiRELEFEBS B BHME—EHREEHEE L FERS a—F 223040 FR AT P RE
arr| ome |t S m| s i, wa | M s i, wa | M wwens i, e | ) wmwews i e
04/03|— 1% - BRET T|FEN The b || 2 i BER 3| h= N BEEEXEEE IR mds | 4|E £ 3|imm Tn5
=
5E —= —=its 0 |5 |&l & 2|—-=@m= md0 |5 |MLDZEH 3| 2Bm 0 |[5|E+ = 3|—=ms Tm40
04/03[—#% - B&F 1|HAfE =R EET 2m20
ﬁé._ﬂ\' — - T —— —
04/02|— 8% - BRET TAFHID < — B m27 || 2[R =F IS |mRRAm 5m25 (|3 |=#EZJ1 |- =me moT || 4|%H BHE 3 |hEm 7mg9
FENE Bk +1. 6m +1. 4m +0. 6m +1. 4m
HEEEELS ZES 4m81 6|FEPET  2|BIdE 4m79 TlsiEHTH 2[(AC—F me5(+2.9m || 8 (IS FHE  3[—E= 4mb59
+0. 4m _ +1.5m 4¥4m24 (+0_4m) _ -0.9m |
04/02|—f% - BB&%F HEEELES Ey toms1 2. [ 2 | Z8wERTy 3| —EEe 10m4d  |[ 3|E&+f M 3| e om9G3.0m|[ 4 |HE B 3|—=ms 9m93 (+3. 2m)
=Bk 4310m22 (+1. 3m) +3.2m AL /A9m96 (+1. 8m) /A9m33 (+1. 9m)
5|ME Y& =) 9m52 6 |hFHEsE 3EES 9m25 TEEaLA 3|EES Imi8(+3.8m | 8 [fEH £iE I|AERES 8m97
_ +1.7/m +1.3m 439m10 (+1.5m) - +0.5m__|
04/02|—#% - Et&F 1|t == —ElEe 9m47 AEEEL RIS 8m/1 JIMAR mH  3|—EidE 8mb8 415HF BHE 2| EFEs 8mb0
FaL#% [4. 000kg]
D EERES EER emds  [[6]EXx H 3[BXZSE ami3  [[7|&W B2 2 [FHiE Tmd6 [[8[ER E&E 3 |EBERE Tm69
04/03|— & - BRETF T ERU—LA-C| 43mi0 || 2|FE BXR 3 |BXES 28m84 | 3[R M=TF IJ|els 2im61 | 4| BB ER  2|-=1m 25m1
2% [1. 000kg]
51X WS —=iE 25m68 | 6(FE B 2(—Eidm 22m35 | 7[R =W 3[—=idtm 2m88 [ 8[XE MR 3I|[EXXZE 22m26
04/02|— B - BRET TR =+ TElm 4m06 || 2 |MA mE 3 |—=itm /m07  [[3[AZ @EE 2|—=dtm B2 || 4|FE = 2 |—=dim 30m39
N2 —¥#%[4. 000kg] |
5 [FEMNGL 2ElE 28md2 [[6|&R %ME 3|—=ditm 28m28 [[7]5# @B 2 |—=mm 2m69  [[8|EEm FHx 2 |BXZm T9m29
04/03|— % - BRET TIE@E © e 32mi9 | 2|h BE 3 |— sl 2m2l ||3|FE mxR 3 |BXZEEm 30m32 | 4|EH FHm 3 |=fs 30m12
U $#[600g]
5 |HE x5 XILES 28m85 | 6[RMB ZEX I[EES 28m62 | 7(XKiT EH I|FEHE 28m21 HEGEE RIS B 27m33




cSwo - J24—J)LFEH -

ELERER (B FE T)

No.5

ety B0 a— 1k [29] B4 FRR28EE FIEEIRLES a— 16220521 4R HO W KE BY #l #=
A A BiRkE L BREBE B4 BME—EREESGELHEES a— R 223040 FldR AT P ARE
arr| ome |t S m| s i, wa | M s i, wa | M wwens i, e | ) wmwews i e
04/02[FZ B+ T[RBE & 3|K& T3 | 1R RE 3 |Hhe TIH13 |3 Fe BE 3 |BEvai757 | 12700 |4 hE a3 |G alD 127506
100m -1.0m -1.4m +0. 8m —-1.4m
578 @mx 3|& 25507 || 6|/ B3 3|AO %11 |7 5@ Z£& 3|AO 12827 |8[B& A 3|AH 12729
-1.4m —-1. 4m —-1.4m 1. 4m
04/03[RE BT TIRE RE 3|Wha 291083 | 2|FH Bl 3| kO 247093 |3 | B BE 3 |RBwA-757 | 25802 | A|ILA e 3| &M 25¥006 |
200m -0. 8m -0. 8m -0. 6m -0. 8m
5[&%A B®A 3|AC—= 25¥48 |[6[lBA Eal 2|aEw %W6T || 1|k m=® 2| k0 25¥96 (8| KE —a2 3 |i&kmid 267502
-0. 8m -0. 5m -0. 5m 0. Om
04/02[FF B+ T[ILA e 3 |=HE 55810 |2 |k X S|AC—=& 56F0ab || 3 |Pakm  mrE 3 |= 57872 |4 |WE RA S| KB 587505 |
400m
5[&E @& 3|K& 5OFbAT |6 |kE & 2 |%he 5028747 |[E BEZ 3 - = T BEREEEREE 13037580
04/03[FF B+ TR @ 3|ER— 251012 2|5 a B SRS 2311185 3| =8 BZE 3|kH 25115086 4 |Fk  BA 3| &% 25131593
800m
5|E% %X 3|AC—% 25158226 MR BA 3|K2& 25 18B0% | 7|1 e 2|=® 257237358 [lEBF BA 3| ARSI 25237512
04/02[ R BT T[&E =& 3|A0 4519893 2 [IUN B= 3 |ERiL 4530112 || 3 [IaA  FarT 3 |=f— A A E AR 455335052
1500m
S5HAa BZE 3 |AE 45408156 [Fk  BA 3 |aam I543F33 | T [/NEl 2B 2 |=| I543E9T(8[F% Wi 3 |=M| 123495580
04/03[FF B+ DEEEEIEIEIE 95319832 [ 2 |8 & 2|AC—=& 952123 3| 2F A= J[EXL T0506%26] 4 | =8 K3k 3 |&A% 105 077520]
3000m
5|BH mA 3RS 10077041 6 [{R A% & 2(=H 1050753063 7 |[H5KR H|E 3[HXRI 1000733 8 [ @It 3|=HM 10513015
04/02[ R F B+ T|EA AR 3|AH 5845 |[2|& BN 3|KA& 5801 || 3| R 3= 161068 | 4 |1EfE =K 3 |ERL 8719
110mH[0. 914m/9. 14m] +3. 5m +3. 5m +3. 5m +3. 5m
5[RE KR 3 |aHH 18885 || 6L Bl 2 |aM% 19846 || 7[R RF 2|&M% 108077 | 8 [AIGAARS 2|& 207527
+3. 5m +3. 5m +2. 4m +2. 4m
04/02[ FFET T EZ 3 T Ba 3 A Fawe 3 LS
4 x 100mR 1|5+t B 3|XBA 467043 |[2|EB HRE 3| HHEFA 467091 |[3 |4 ¥EE 3| KA 47875 [[4|F%F  HEE 3 |EHA 487041
ma AR 3 AT BEZ 3 Kig B 3 B30 I S
FbL & 3 A e 3 B @A 3 #A WA 3
—M EA 2 "R 23 2 WFE ' 2 nE %k 3
5k BRI 2|muHB 48780 |6|x8 E 2|xoB 487085 [ 7(mitr 78BS 2|KENIA 297089 [8|x#&x A 3|kmc 50%572
BE BRE 2 B A& 2 il #E 3 =l B2 3
AIE fis 2 AN B2 KiE Wz 2 =i & 3
04/03[ FZET IEEEEENEE] ™m0 (2| K& B 3|KO Tme5 || 3 ok = 3|K=& 65 | 4|ka em 3 |AO Tm50
ESB
" S5[&T #&%& 3|XKA M50 || 6|F&E Hon 2 |maEr ms0 | 7Am B’ 2|AO mds |78~ % 3|=@ Tmd5
04/03[FZ BT TR & 3|Xk2& M0 |2 | =@ 3| mEE w0 |3|KE B 3J|AcC—= 00 | 4|BA ALE 3 |G EE 2m80
EE
" 552 BE 3 |aam 60 | 6|HE ME 2 |=MH ma0 | 7|2 BA 3 |EEE 240 || 8[BHF B 3|AO 2m20
04/02[FE BT T[RB =k 3= 5mes || 2 | =B AER O | & AR bme0 | 3| AT+ EEE 3 |m A% bmsl | 4| B 3 |G ENEr 5ma2
FENE B +1.5m +1. 0m +2. 0m +0. 3m
HEEEE A 5m33 (6B #AJr 3 |=H 5m28 | 7|hE Ef 2 |=| bmi6 | 8|IUE IE 3 |& 5m03 (0. 1m)
—-1.O0m —-1.Om +1. 6m 2nd 4m96 (+0. 4)
04/02[FZ BT T[B5F Wk 3|=[| Bmi7 || 2|/KE #hIr 2| KRB 6m35 | 3| =B 2| KB Bmo0
%138 [5. 000kg]




cSwo - J24—J)LFEH -

ELERER (B FE T)

No.6

bt B a—F [2] gitiey  FHRSEE FIRRERRESR a— R 16220521 s/ BHO —W@ AE Y L B
A A BiRkE L BREBE B4 BME—EREESGELHEES a— R 223040 FldR AT P ARE
arr| ome |t S m| s i, wa | M s i, wa | M wwens i, e | ) wmwews i e
04/02[FF &+ ESEE S TRIETS 12890 |2|[KAF B)» 3J|AC—= 3947 3| = 3 |aME 37050 || 4|F& & 2|ohe 135051
100m 0. 0m 0. 0m 0.0m 0.0m
5% &% 2|KA 3756 (6| HEERK 2|KA 357 7| =% B= 3|AC—% 137066 || 8 |[fak &% 3 |aM% 13770
+2. 6m 0. Om 0. Om 0. Om
04/03[RE & T NS TRIEES 261091 2[R+ B3 S|AC—=& 21574 |3|E& ME 2|AcCc—= 28897 4| HHBERK 2| K& 297000 |
200m -2.9m -2.9m -1.0m -2.9m
5% &8 2|KA& 20016 || 6O Wz 2 |BAED 20959 || 7|miE®HI A 2|AC—= 20883 |72k RS I |mAH 29783
-1.0m -2. 1m —-1.0m -2.9m
04/03[ R E & T BEEEE R R 25208081 [ 2|2l =8 2|AC—=& 27730162 || 3[BT k= 3|AC—= 273122 [4[IUE &R 2| A= 25323051 |
800m
S/NEARBM 2| ZF 25333805 6|98l W 3|=@ 25300 T | EASPE  3|=@E 2539801 | 8[IIT Zm 1 |EXRED 253397013
04/02[ R & T T["BRB® 2|AC—& 55302#065 | 2 |21l =88 2|AC—=& 5> 11%051 | 3 |BTR k= 3|AC—= 5310101 | 4| B BmE 3|l 573145530
1500m
S[IE & 2| A= 5510/ 14 6 [/NEABH 2| E5 551975 7T|[leR B& 2|AC—= 5521700 8|25 D& 3|[EXL 55322%055
04/02[ R & T T[FRR 2f 3 |a M 165002 | 2| =& &1 2|he 161053 || 3 |NERER 3 |EHE 6954 | 4| &% 2|=H 67576
100mH[0. 838m/8. 50m] -2.8m -2.8m -2.8m -2.8m
S|BAKAM 3|=HE T77006 || 6|@87+ ro2%z 3|0hE 13 |T[LE ®A 3 |ha NN BEEEUE RS 17197
—-1.4m -2.8m —-1. 4m 1. 4m
04/02[ FF & T B ®h 2 EETITIE S I TEHT 2 S
4x100mR 1|28 B 3|#HE 513005 [ 2[EE &#  2|XxA 525006 [|3|ATF EEMm 3|lac—= 53#046 |4[EEMARF 2|(=@B 547086
FE BHE 3 t# EM 3 Ex BA 2 5 B2
K B 3 HEERKR 2 IBEEE 2 EloCA 2
BA 5 3 -k =3 2 FL0AY 3 BEMPHE 2
5|F1E IBE 3 |HMTA 55821 [|6[FEIL #A8 2[k=HA 558062 || 7|@AKAEM 3|=@EA 565019 || 8[2HB=B® 2|xOB 565094
AR B2H 3 =E e 3 il E 3 BA BH 2
TH =3 3BE £F 3 NgE @& 3 RE D 2
04/02[ FZ & T BE G ER RIS 0 (2|2 & 2| A2 i0 || 3 BB 28 3 |m D m30 3| =E  3|=| Tm30
EEB
JE®E FF 2|kO 30 |3 |ERGER 2| A2 30 |30 &=& 2|kO m30 | 8|BAk »wE 2|= m30
04/03[ FF & T NEEEERIESS Imbs || 2 |%E@ =W T1|AC—= 61 |3 |mEHIH 2|AC—= b2 | 4| FEH = 3 |mhe Tmas
ENE Bk | +0. 4m -0.9m +1.5m +1.6m
5|F% @R 3|he md2  |[6|FE Ba 3 |adH m26 || 7| E:x 3 |wme= m21 |8 | %% e 2|kO Imis
+0. 8m +0. 3m 0. Om +0. 4m
04/03[ FZ & T IMEEEEENEE 8l || 2|2/ BZx  3|he 807 | 3|BE KE 3 |ASI e8| 4| K wE 2| AN Tm50
RaALIE 2. 721ke]
S[BEB05 3 |KREI M9 | 6|BA BB 3|he o3 |7 IO ®®E 2|kO 6md3 |8 |BE =d 2| ARSI 6maT
04/03| FF & T T[iE Bx  3|he 2Tm80 || 2[[LOBME 3|2/ Tom59 || 3 |BAEEmES 2= TIm76
TR y4HZ20—[0.300ke]




cowo - J4—JLFFEB

- 5Lk R BHLFE T)

No.7

bt B a—F [2] gitiey  FHRSEE FIRRERRESR o 16220521 s/ BHO —W@ AE Y L B
T A ERELBREGR Fiti 4 EBHE—ERESEEGE RS a— R 223040 FldR AT P ARE
arr| me |t ] F B, R ek 2‘3 B4 R ek 2’? BE A Ea ek P BHE A R, ik
04/02| NEAE B 7 H.om 1 |EHO I 4|tmumes 57| 821 |2 |RiE L 4|AC—8 8043 | 3|Rdt mA 4| TmLUABS S| 849 || 4|PE BF  4|TERAC 8057
50m
5Bl AT 4|m=ELs57| 0866 |6 BHEAES 4|GmErs50| O%i2 || 7|mE BH 4|+tmukassI| 951 |8 |RE B 4|tmukEssI| 98016
04/02| NEbE B F T|BIE ER 5| TEL#BEs57| 14168 |2|IkE  ® b|AC—& THDT9 |3 |MiR BRiE O [tmUkBEZ>D| 16820 |4|FE B O|[TELkAE- 5| 15184
100m +1.3m +1.3m +1. 3m +1. 3m
51fa8 BAX S[+tmukassI| 15835 [6[EE HE b[tmukassI| 15839 7[R K 5[MRAC 5#052 || 8|/ BA 5 |fERAC 15%556
_ +1.3m _ +1.3m _ _ +0. 5m _ +0.5m__|
04/02[/NFEERF T[fEH EB&X 6|AC—= 13%33 [[2|BE XM 6|AC—F& 13%056 3|5 x&H 6[AC—& 3794 |[4|90m B3 6|AC—=8 147201
100m || +1.2m +1.2m +1.2m +1.2m
5/Z@ EF 6|AC— 147007 |[6|REMBAER 6|fRAC 145037 | 7|/BA B 6|m=iEts57| 145046 || 8|Ed £ 6 |h=Ets57| 14873
_ +1.2m _ +0. 5m —1.5m +0.5m__|
04,/02|/NEb2E B F TN KB b |mRELI ST | 5n2/01 || 2| =8 = 5|AC—& 6% 28F005
1500m
04/02[/NF6E BT T|E® t&& 6|AC—= 53247025 || 2 | Efm ARl 6 |[FRA C 55247503
1500m
04/02[/NESE BT +0.6m| 1|/NIT BEA 5 |FRA C 7748
80mH[0. 700m/7. 00m]
04/02|/NFEEBF | +0.6m| 1 |lal JEE 6 |[hRELs S| 141068 | 2|k =K O|hEELsSJ| 14979 || 3|9t BEIr  6|TmELEAESSJ| 16819
80mH[0. 700m/7. 00m] _ _ _ _
04/02|/N35-65F B F B e 6 HZ £M 6 R K#H b e #H 6
4 x100mR 1@ EBX 6|AC—EA 53F086 [[2|ME] BE 6 |wmmmErssT| 58812 3N K 5|FERAC 152008058 || 4 | ABF &K 6|+mwukas 57| 15008079
heg B 6 mEE EX 6 $HEZN 6 null @t 6
BH_ XA 6 B EE 6| BEfAR 6 _ bt B 6
04/02|/NZLE BT T[HR Zth b |tmu#EE2 57|  Im0b || 2 /M & 5|FERA C mo0  [[3[=# =Z=# bH|AC—E Om90
S8k
04/02|/NEAEBF 1EHEXRE 4|H%ELEYST 3m1b 2|hdk SEAK A|[H+muaEEs I 2m89 J|FE &3} 4|FERAC 2m67 4178l KT 4|WRELEISD 2m66
FENE Bk +0. 1m +0. 1m -1.4m +0. 4m
04/02[/NFHERF 1T[g1E EX b |[+mEukEs>7|  3mdl 218 & 5|+muakdEsII|  3m38 J|IKE Fth S|RSELEIST 3m05 4R ZHt 5 |[tmLuEES 35I| 2m99
ENE Bk | +0. 2m +1. 4m -1.4m +0.5m
5|F% B b|tmukassI|  2m98 |6 /NIl BEA 5 |WRAC 2m94
+1. 5m -0. 8m
04/02|/NE6E B+ 1T[;H BX 6[AC—%= 4m25(+2.3m) |2 |HE &P 6 |mREESSD 3m83 3| KRE 6 |mSELEIST 3m63 41%B EE  6|mREESST 3m60
R B 23m19 (+1. 6m) -0. 8m +1.5m +0. 6m
5\ K 6|FmRiELy 3m50 6|[AF EX 6|+tmukassI|  3md0 TB8x ZEHE 6H8EEIST 3m28 8@ KE 6|mBELEsIST 3m12
+0. Tm 0. Om +0. 7m +0. 2m
04/02[/NFHERF 1|4RE #fi SH[AC— 3m07 || 2|B3tk Rt S[+muAEEs ST 30md0 [[3[EME JEE S [+muakdEsSI| 23ml9 | 4 1Rk Ef  S|+tmukas ST  20m22
VAN Yy hE -
04/02[/NE6F B+ T|FHEEZNT  6|fiRAC 50m93 [[2|+FE HIZ 6|AC—E 48m05  [3|AE EX 6[+tmuAEsS>I| 3m94  [4[AWL @B 6[+muAEEs > 36m06
YN IR -I% ||
5l2aE %% 6|am®Ets>I| 31m02




cSwo - J24—J)LFEH -

ELERER (B FE T)

No.8

bt B a—F [2] gitiey  FHRSEE FIRRERRESR o 16220521 s/ BHO —W@ AE Y L B
T A ERELBREGR Fiti 4 EBHE—ERESEEGE RS a— R 223040 FEk AT P AE
arr| ome |t S m| s i, wa | M s i, wa | M wwens i, e | ) wmwews i e
04/02| NEAE & F 0.0 1 |5 BER 4TELREsS5D| 861 || 2|BHE #IE 4|AC—8 8768 || 3|IUA BE 4|TmELABESSD| 0168 | 4|=HE WE 4 |hRELssJ| o8B
50m
5 |E%mE = 4|hmELosSJ| 9807 |6|mA @F  A4|tmukasso| 9808 | 7]% tE 4]AC—= 915 ||8|AREF KF 4[tmwEaEsSI| 9FM9
04/02| NFbEZ F TI5H B3k D|r#oors—2557| 160043 ||2|= x| TRLUGES S| 16044 (3|l WE  b|tmu#as 5| 158060 | 4|%EE Wi b |[tELABES S| 161032
100m -0. 8m -0. 8m -0.8m -0. 8m
5|&#F #8 b[+tmukas>I| 16857 [[6|al'R /NE  5H[AC—E 167059 [[7|®BB\mARE b |fiRAC 167060 | 8[Z)II =W 5 [wBEESST| 16786
-0. 8m -0. 8m -0. 8m -0. 8m
04/02| NFbEZ F TR = 6|AC—= 376 |2|HFE =R 6|AC—= T4%03 | 3| Uk = 6|AC—= 470371 |4 |7 m 6| tmukas5o| 14137 |
100m +1.5m +1.5m +1.5m +1.5m
5|5F @Bl 6|=#sxs-—557| 14871 || 6% 2F 6|AC—5& 14789 [[7|/hE FZ 6[AC—E 14792 ||[7T[ILEXEME 6 |+mwuaEas>7| 147092
_ — _ +0. 6m +0. 2m +0. 6m +1.5m__|
04/02[/NEEELZF 0.0m| 1[=# 1HF] 5|+mu@Eas>7| 18808 |[2 [ @2 bL|+mukEs>7| 18716
80mH[0. 700m/7. 00m] ”1 _
04/02|/NEOEZF | 0.0m 1 |1&5F W= 6| tmukass5| 17939 || 2 |IRe8 LTia 6| tmukas55| 17800 || 3|l L 6 |mmEts55] 101094 |4 |HeE #@+ 6| |h=ELsoJ| 198023
80mH[0. 700m/7. 00m] _ _
04/02|/NE5- 6 & F e DF 6 ERARETS 6
4% 100mR 14K E 6|AC—EC 56#071 (|2 (B < BA 6 |+tmukEssIA|  59F060
s =6 6 ILARTEMZE 6
- #HE ZER 6 __ (e #E%E 6
04/02[/NESELZF 1128 ¥K b[AC—F mo0  [[2[EEx4<E S|a®EEs/S5T|  0m0
E Y __ . _—
04/02[/NE6FEZF 1" &2 6|AC—& m17 2|#fp FFE 6|FEIRAC 1m10 3|UBfE XM 6 |[fMREES ST 1m00
E _ _ __ — — _
04/02[/NAFELF 11% f& 4[AC—E 3m06 2B WE  4|FWREESST|2m56(-0.7n (| 3[EAR BF 4[tmEuEEsSI|2m56(-2. m|[4|HRHE FIF 4|AC—E 2m47
ENE Bk -0. 1m 2nd 2m55 (+1.3) 2nd 2md6 (+0. 4) -0. 3m
5[luA mMER  4[mBEESST] 2m36 6|&FE ®’E 4|+tmurdssI|  2md2
-1.5m +1. 5m
04/02[/NFELELZF TIEN =W b|hmEtssI| m23 (2|aAk /& bH|AC—& 03 [3|ES ¥K bH[AC—E 282  |4]00 =i G|]AC—& 2m70 (+2. 5m)
ENE Bk -0.3m 0.0m +0.2m 432m50 (0. Om)
5|%H# #®E b|+tmuEassI|  2m30 6| EEx4E OL|A®ELS>T| 2m33
+0. 3m +0. 1m
04/02[/NEOELTF T|FTH EZ= 6|hmEtssJ| omdb | 2|LE FEE 6|AC—8 3m31 J|feE T 6|mEEL 57| 3m0 ||4|NF ke 6|WRAC 3mii
R B +0. 4m -0.3m +1. 0m -0. 5m
5% WF 6|AC—E 3m05 6B < BH  6[+muEsEs3I|  3m00 VG Iy 6[|AC—E 2m74
-0. 9m -0. 3m +0. 4m
04/02[/NELELF TIZEN =W b|hmEtssJ| 26m01 (|2|ILO BmfL H|AC—& 12m81
VAN Yy hE -
04/02|/NFE6FE L F T[#&x & 6|AC—= 4omi2 |2|/h8 HEL 6|AC—F 40m37 | 3[Hh FiE 6|fERAC 30m80 |[4[HRER t#E 6 [tmumESST|  20m82
VAN IR -
5l » 6|AC—E 10m71 IWE R 6[+muEassI|  RiG
04/02[/NFAFERE = BE 4 =H WiE 4 REE ®&F 4
4 % 100mR 1|ZE B%E  4|+twussssuc| 195058008 2 (A Z=fE 4 |H8BREs5T[1508825(3 (&K BH  4|+tmusassuo| 195117025
it GERK 4 Al KE 4 mE 'R 4
HO ##th 4 EHEAR 4 A% WE 4
04/02|/NEHERE Bl #% 5 ZH Mm@ b R PpE 5
4 % 100mR 1|&% H#E  5|+musassTa | 19008006 (| 2 (LM #kft 5 |+mussssTs| 19020087(3 (28 EKk 5S5|Ac—=D | 145037042
PE B 5 Bk ZH|th 5 TatE Bt 4
BIE BHFR 5 Big & 6 KH ffi 5




